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SCIENCE

1.Name the tubes through which water and minerals are transported to other
parts of the plant

2.Name the nutrition seen in amoeba and humans

3.Materials through which heat cannot pass are called

4.Name the device used to measure the temperature of an object
5.Name the method of heat transfer in solids

6.Name an organism that fixes Nitrogen in the soil

7.Name the process of obtaining and utilizing food

8.Name the byproduct of photosynthesis

9.Airis a conductor of heat

10. The food factory of the plant

2.SHORT ANSWER QUESTION

Compose a few lines on the utility of plants
2.Why is important to increase the forest cover
3.Why is nutrition important for a living organisms
4.How do green plants synthesized their food
5.State the role of vessels present in a plant
6.Define symbiotic relationship ,Nutrients
7. In which direction does the transfer of heat normally takes place
8.State two types of physical change that may take place when a substance is
heated
9.Why the bottoms of cooking utensils are often kept black
10. Why a new quilt is warmer than an old one?
3.LONG QUESTIONS
Why would life not be possible on the earth in the absence of photosynthesis
2.Descibe the various ways in which heat energy

Can enter/ escape from our houses.
3.Take a cup of hot water/tea .Measure its temperature accurately with a
thermometer. What will happen to the hot water/tea if it is left in a room for
say one hour.Measure the temperature at fixed intervals of 5 min and record
your observations.
4.Name 5 good conductors and 5 insulators
5.Boil some water in a vessel.Cover it with a plate Remove the plate after
sometime. We will see droplets of water on the surface of plate.Try to find out
why and how these water droplets are formed.




MATH

No.1 to 10 are of MCQ type questions.
No. 11 to 20 are short answer type questions.
No.21 to 25 are long answer type questions.

1. Which of the following is not a rational number ?
5 -2 1
2. Which is the equivalent fraction of g?

12 6 16
a) % b) 5 c)ﬁ d)None of these.

3. The absolute value of ; is

3 -3 3
4. Findx If 2 ==
7 -35
a) 40 b) -50 c)-35 d) -40
5. Write the standard form of _7255
a) ;—j b) % C) ;—: d) none of these
6. Which of the following integer is neither positive nor negative ?
a)0 b)100 )10 dy1
7. Between two consecutive integers how many rational numbers are found ?
a) infinitely many b) two c) infinitely many d) three

8. A rational number% IS greater than g if

a)ad >bc  b)ad <bc c)ad =bc d) ad #bc
9.For two rational numbers x and y, X +y =y + X. This property is called
a)commutativeb)associative c)distributive d)none of these
10. The additive inverse of a negative number is

a) positive b) 0 c) Negative d)none of these
11. Express % as rational number with numerator -21.
12. Which one is greater? _?2 or _?1
13.Represent _?2 on the number line.
14. Find three equivalent rational numbers of g :

15. Find x such that the two rational numbers, g and _iss become equivalent.

16. Find a rational number between 3 and 4.

17. Express the rational numbers with same denominators: %5

O |

18. Express I—Z as a rational number with denominator -54

19. The sum of two rational numbers is _71 . If one of the numbers is g , find the
other.

imolify: == +232
20. Simplify: . 13
oy - . 7 8 52
21. Arrange the following in ascending order: o =
22. Find the average of the rational numbers% , ; , %

23. Verify (X+Y)+Z = X+(Y+Z) for X= E Y= gand z=§ _




24. (i) Compare the rational numbers: % and _36
(i) Write down the rational numbers in the form % whose numerators and
denominators are

(- 5)x4 and (-5)+4 respectively.

25. Verify (X+Y) = (Y+X) for X= % Y= S

4

SST

A. MCQ

1. In which year was the Wild Life Protection Act passed in India ?
(a) 1971

(b) 1972

(c) 1973

(d) 1974

2. Which one of the following is included in biological environment?
(a) Birds

(b) Land

(c) Water

(d) Minerals

3. The literal meaning of Lithosphere isthe __
(a) Sphere of Air

(b) Sphere of rock

(c) Sphere of life

(d) Sphere of water

4. Tahqig-i-Hind was written by

(a) Abul Fazl

(b) Bernier

(c) Marco Polo

(d) Al- Biruni

5. The National Archives of India is located in __
(a) New Delhi

(b) Mumbai

(c) Kolkata

(d) Chennai

6. Puranas are

(a) Archaeological sources

(b) Non religious sources

(c) Historical documents

(d) Religious works

7. Ain- i- Akbari was written in

a) Arabic

(b) Persian

(c) Urdu

(d) Hindi

8. India has __ party system

(a) Single pary

(b) Bi party

(¢ ) Multi party

(d) None of these

9. Who is called the architect of Indian constitution?




(a) Mahatma Gandhi

( b) B R Ambedkar

( c) Jawaharlal Nehru

(d) C Raj Gopal Chari

10. The __is an introduction to our constitution.

(a) Articles

( b) Equality

(c) Preamble

(d) Fundamental rights

B. SHORT QUESTIONS

1. Define the term environment

2. Mention two literary sources of information of the medieval period

3. Define the term biodiversity

4. What are manuscripts?

5.What is meant by secularism

4. Mention two disadvantages that weaken the Indian society.

5. Mention two components of physical environment

6. Mention two components of biological environment.

7. What is Universal Adult Franchise?

8. Name three foreign visitors who wrote travel accounts of medieval period of
India.

9. Define the term atmosphere.

10. Mention the main function of opposition party.

C. LONG QUESTIONS

1. Differentiate between physical and biological environment

2. list the well known literary sources of information of the medieval period.
3. Mention the main provisions of write to equality.

4. Enlist the steps taken by the Indian government for the benefit of the weaker
sections of society.

5. Prepare a coloured diagram showing different spheres of environment.

ENGLISH

CHOOSE THE CORRECT OPTION:
1. What convinced the grandmother to keep Tutu as a pet?

(a) because tutu was cute (b) because tutu was an orphan
(c) because tutu was a little girl monkey (d) because she wanted to have a
pet
2. What did Tutu do with the necklace?
(a) Tutu kept the necklace with himself. (b) Tutu gifted the necklace
to someone.
(c) Tutu threw the necklace into a watercourse. (d) Tutu gave it back to the
shopkeeper.
3. Ruskin, at the age of 8-9, encouraged grandfather's weakness for keeping
pets.

a. usual. b. unusual c. terrible. d. common
4. Who did not join the chase to catch Tutu?

a. Children on their way to school b. Bystanders

¢ Grandfather d.The Jeweller
5. Ruskin’s grandfather buys Tutu from a street juggler for a sum of

rupees.

a.ten b thirty c. fifty. d. four




6. The narrator and Tutu followed Aunt Ruby and Rocky at a discreet distance to
the .

a. toy shop. b. fruit school c. garment shop. d.
jewellery shop

7. What did the child offer birdie to feel cozy?

a. Silken quilt. b.Bedsheets c. Fireplace. d.Sweater
8. The Birdie prefers to sleep in her
a.wall b.tree c.lvy wall d. bed
9. Birdie values her more than the luxurious life promised by the child.
a.Family b.Freedom c.Home d.Opinion
10 Birdie prefers her necklace to the one offered by the child.

a. Old b. Simple c. diamond d. Feather

Answer the following questions:
11. How was Grandmother convinced to keep Tutu as a pet?

12Who used to encourage Grandfather?
13. What was the age of the narrator when he used to encourage Grandfather?
14. What were the pets did Grandfather have in his house?.

15 Why do you think some guests were not seen several days after the
wedding?

16. How does the bird hear the rain falling?
17) And | sing, and wing away, away! What does the bird do hear?
18) Why does the child lure the bird with jet, amber, diamond and necklace?

19. Why did the narrator follow Aunt Ruby and Rocky secretly to the
jeweller’s shop. What reason did Tutu have for following them?

20. What did Tutu do with the necklace? How was it restored to the
shopkeeper?

21. If asked to choose between money and freedom, what would you choose
and why?

22. Can you think of a few things that come with freedom and cannot be bought
with money? Discuss with your partner and prepare a list.

23. The narrator decided to secretly follow Aunt Ruby and her fiancee Rocky to
the market. Is he justified in doing that?

24. Tutu took a pearl necklace from a jeweller’s shop and created a huge mess
in the market before finally throwing it into a canal. The jeweller felt quite tense
about the whole episode. Write the jeweller’s diary entry describing how he felt
at Tutu’s mischief.

25. write a paragraph on ‘True friends’.
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